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(= 471,900 461,400 10,500
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Al 30,253,056 28,596,633 1,696,423
HOIE2 s2& HMel(2d/HDI=) 31,375,515 29,797,924 1,577,591
= 34,600 34,600 0
[ 780,000 780,000 0
= 471,900 461,400 10,500
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Al 30,069,015 28,501,924 1,567,091
JRet SAIEE 24 27,608,010 25,781,185 1,826,825
s 780,000 780,000 0
S 201,000 201,000 0
S 20,000 20,000 0
Al 26,607,010 24,780,185 1,826,825
HOISXMel 2el - 3= 593,920 621,420 227,500
201 LBt 144,800 172,300 227,500
01 AtR2t2ltl 143,800 171,300 A27,500
Oget=EH| 122,500 150,000 A27,500
oc&ate NEel EXIHIIE HMel
2 & 92,500,000 92,500 120,000 A27,500
MEHI IS =& - 28 L 2L 24,451,767 22,597,442 1,854,325
201 L2 12,825 13,500 AB75
01 AtR2telbl 12,825 13,500 AB75
OdEHIIZ § =8 - 28 ¥ II2¥ A
Ohed 2o 89
Z3 12,825,000& 12,825 13,500 AB75
207 A IOHE] 19,000 20,000 21,000
01 12| 19,000 20,000 1,000
Q43 HEHIIE +T, 2 LN &
o 24 Z& 19,000,000 19,000 20,000 1,000
308 KFXIEHHMSOIS 21,828,236 19,972,236 1,856,000
183 SV 2SO0 & AET AL 21,828,236 19,972,236 1,856,000
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2E 21,828,236,000& 21,828,236 19,972,236 1,856,000
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= 154,000 154,000 0




2N

Za: HII2 28X Hel(2/HIIS)
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oR3FLIELY
A 25,578,002 25,578 77,952 A52,374
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SERE A 66,0002 66 240 A174
osy+y 800 2,700 A1,900
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BEXE 4,494 0 4,49
BHEXE 9,49 0 9,494
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020234 Z|0IE H2IX 60,851 0 60,851
oAB T 44,173,9802 14! 44,174 0 44,174
<0l Xt 16,676, 58024% 14 16,677 0 16,677
020199 ZH0IE MK ARl OIT
1,410,720 214! 1,411 0 1,411
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